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Level 2 Biology 2024
91156 Demonstrate understanding of life processes 

at the cellular level

Credits: Four

Achievement Achievement with Merit Achievement with Excellence
Demonstrate understanding of life 
processes at the cellular level.

Demonstrate in-depth understanding of 
life processes at the cellular level.

Demonstrate comprehensive 
understanding of life processes at the 
cellular level.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–12 in the correct order and that none of these pages is blank.

Do not write in the margins ( ). This area will be cut off when the booklet is marked.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

SUPERVISOR’S USE ONLY

Draw a cross through the box ( )  
if you have NOT written in this booklet

+

No part of the candidate’s evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining an NZQA qualification or award.

TOTAL 17Merit



 

 



 

 



 

 



 

 



 

 



 

 



Merit 

Subject:  Biology 

Standard:  91156 

Total score: 17 

Q 
Grade 
score 

Marker commentary 

One M5 

The response explains that an advantage of aerobic respiration is that it can 
produce 36–38 ATP per glucose and can be sustained for longer periods. A 
disadvantage of aerobic respiration is that it requires oxygen and occurs at a 
slower rate. It explains that an advantage of anaerobic respiration is that it 
doesn't require oxygen, allowing animals to function effectively even with low 
oxygen availability. A disadvantage is that it can only occur for a short period, 
produces only two ATP, and results in lactic acid, which can cause cramps. 

Two M6 

The response explains the details of both the light-dependent and light-
independent phases. It also provides reasons for the higher number and size 
of chloroplasts in shade leaves, as well as the lower number and size of 
chloroplasts in sun leaves. 

Three M6 

The response describes the diffusion process and its purpose. It explains the 
changes and reduction in the surface-area-to-volume ratio involved in cell 
growth. It also clarifies that when the surface-area-to-volume ratio becomes 
too small, the cell cannot efficiently transport nutrients and wastes, 
necessitating cell division. Additionally, it provides an example of a high cell-
division rate in an animal and the reasons for this occurrence. 
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